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GCSES

1) Round 4.413315161857 to the nearest
whole number.

2)  What would you multiply by to
decrease an amount by 88%?

3) 45318+ 546

Answer: Answer: Answer:
4)  Write 9000000 in standard form. 5) Round 19.53916223 to the nearest 10 6) 6 I
36
Answer: Answer: Answer:

7) 75.2x 82.6

8) Share 90 in theratio 31:14

9) Solvelj2+8 +14=0
Round your solutionsto 1 decimal

place.
Answer: Answer: Answer:
10) 70x 10 11) Find the percentage change from 108 12) s x 154
t0 432
Answer: Answer: Answer:
13) 84x (-72) 14) 6%,0%x 6%, 15) (8x92) - (9% 69)
Answer: Answer: Answer:
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Find the Angle at side A.

16) 17) Convert the following mixed number 18) 3 I
37 J Find Volume of Cone 174/2 into an improper fraction. 128
e
32
Answer: Answer: Answer:
19) / 20) 58000 + 1000 21) 58000 + 1000
A B =53

Answer: Answer: Answer:
22) Find the percentage changefrom300 || 23)  09:05am To 06:58 pm 24) (16)6
10243
Answer: Answer: Answer:
25) 270 = 10 26) 383/13 X 317/8 27) Find the median of the following set of data:
18, 36, 26, 29, 12, 14, 32, 14, 25,
14,5, 27, 27, 33, 16, 8, 16, 9, 29, 4
Answer: Answer: Answer:
28) (8x 85) + (8x 96) 29) 856.4+5072.1 30) Find perimeter of
. . triangle s = 1816 cm
s
Answer: Answer: Answer:
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31) Find the median of the following set of data: 32) 9351 - 4376 33) 0351 - 4376
29, 8, 30, 31, 25, 19, 30, 22, 31, 34,
19, 20, 14, 32, 32, 29, 13, 34, 34, 18
Answer: Answer: Answer:
34)  Convert thefollowing mixed number || 35) 6/, 36) W +1.
141/, into an improper fraction. 128
Answer: Answer: Answer:
37) Decrease 225.4 by 32% 38) (-3003) + 33 39) (-29) x 63
Answer: Answer: Answer:
40) 270+ 10 41) Find the value of 'q' by completing 42) 85 x (-54)

Answer:

the square of the following equation:
2+12q+20

Answer:

Answer:

43)  85x(-54)

Answer:

44)

Find perimeter of
triangle s= 6196 cm

s 5

Answer:

45) Decrease 364 by 26%

Answer:
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46)  Simplify 75:65

Answer:

47y (-672)+ 9%

Answer:

48) 'What isthe probability of rolling a
number less than 3.when rolling a
dice

Answer:

49) 1200+ 100

50) 4516 + (-3172)

51) Find the range of the following set of data:
19,04,0,1,-8,8,13,-1,-1

Answer Answer: Answer:
53) b 54) b
Find Volume of
Cylinder
a 0] c a 0 c
Measure angle boa Measure angle boa
Answer: Answer: Answer:
55) b 56) 57) 14+2+(6x2)
Find Volume of
Square Pyramid
a o] c
Measure angle boa
Answer: Answer: Answer:
58) 990 + 18 59) 3By x 2 g 60) W -5,
Answer: Answer: Answer:
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61) Find the median of the following set of data:

6, 12, 6, 10, 13, 40, 15, 13, 30, 36,
25,13,33,33,18,7,39, 23,11, 14

62) (7x 19 x (7x19)

63)  Ygg0f 195

Answer: Answer: Answer:
64) 329, x 101, 65) 5287 x 8363 66) Find area of square
having each side (s)
s equals 1817 cm
s
Answer: Answer: Answer:

67) 10x 9- (4 - 16)

Answer:

68) 8956 - 8661

Answer:

69) Write 40000000 in standard form.

Answer:

70) 'What isthe probability of rolling a
multiple of 5.when rolling adice

Answer:

71) Anamount was decreased by 4.7% to
$101.00. Find the original amount.

Answer:

72) 'What isthe probability of rolling
factors of 13.when rolling adice

Answer:

73)  Write4 x 108 asanormal number.

Answer:

74)  Decrease 464 by 65%

Answer:

75) Convert the following fraction into a
mixed number: 66/

Answer:
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76) Convert thefollowing fractioninto a 77) (-54) x 21 78) Find area of
mixed number: 66/,¢ b rectangle having
sidesa=5327 cm
a andb=3308cm
Answer: Answer: Answer:
79) A number was shared in theratio 80)  Write 9000000 in standard form. 81) A number is chosen at random from
7:84. The smaller share was 19. 1to 75. Find the probability of
What was the larger amount? selecting multiples of 20 and 20.
Answer: Answer: Answer:

82) 800 + 10 83) 06:20 am To 03:49 pm 84) Convert the following improper
fraction 178/, + 394/ 4 into a
mixed number

Answer: Answer: Answer:

85) Increase65hby %/, 86)  2399.2-6493.4 87) (1x 109 - (3x 10%)

Answer: Answer: Answer:
88) (10x 8% x (5x 17) 89) Y, of 276 90)  7989-5383
Answer: Answer: Answer:
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91) (6 x 108) + (9 x 85)

Answer:

92)  Write 8 x 107 asanormal number.

Answer:

93) Write 7 x 10° asanormal number.

Answer:

94) Factorises? + 9s+ 18

95) Find the percentage change from 360
to 270

96) Find the median of the following set of data:
39,38,12,7,5, 7,8, 40, 28, 38, 26,
26, 29, 12, 19, 26, 5, 40, 15, 32

a andb=1626m

Answer:

Answer:

Answer: Answer: Answer:
97) Find perimeter of 98) Find the percentage change from 250 99) Decrease 401 by 84%
b rectangle having to 180
sidesa=2814m

Answer:

100)  (-1924) + 74

Answer:

Total: /100
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Name:

September 05, 2023

1)4
8)2:88

15) -90698616
22) -19%

29) 59285

36) 410Y

43)

50) 1344

57)

64) 343755

71) $96.25

78) 17621716cm
85) 75

92) 80000000
99) 64.16
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2)0.12
9)j=-260r-54

16) 9919.0552049342
23) 09 Hours 53 Mins
30) 5448cm

37) 153.272

44) 18588cm

51) 27

58) 55

65) 44215181

72) Yg

79) 228

86) -4094.2

93) 700000

100) -26

MATHS WORKSHEET %«'

Answers:

3)83

10) 700

1719,

24) 136

31) 26.5

38) -01

45) 269.36

52) 43008.403427644
59) 5% 4g

66) 3301489cm
73) 4000000

80) 9x 106

87) 999999970
94) (s+3)(s+6)

4)9x 106
11) 300%
18)8

25) 27
32) 4975
39)

46) 15: 13
53) 119
60) 417/.5¢
67)

74) 162.4
81) %5
88) 3200
95) -25%

GEMERA

5) 195
12) 24,4

19) 127

26) 12185%,
33) 4975

40) 27

a7y -7

54) 119

61) 30.5

68) 295

75) 1%,

82) 80

89) 3

96) 32

Sr: 05092023-3193

6) 6

13)

20) 58

27)9.5
39179,

41) (q+6)2- 16
48) U,

55) 119

62) 49

69) 4 x 107

76) 1%,

83) 09 Hours 29 Mins
90) 2606

97) 8880m
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7) 6211.52
14) 43V

21) 58

28) 4513672
35)8

42)

49) 12

56) 12342
63)5

70) Yy

77

84) 5712Y, 5
91) 600294912
98) -28%
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